Z
[IA]

O]l & AF & & Ml A

20229 &= =0l A LB H AT It
SN AUTRD
HE: M9 B B
Sl NSRS W Y (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o= AFXHR Dt 85,919,144 85,507,066 412,078
= 53,260,960
< 21,688,184
£ 10,970,000
ot FHH 25t 85,674,704 85,416,826 257,878
= 53,260,960
< 21,443,744
£ 10,970,000
SAEsE Y OOHE 156,305 179,374 A23,069
= 70,000
< 86,305
SAQIEIY ¥ 'Y 76,640 103, 666 A 27,026
308 XtXIEHHSOIA 76,640 103, 666 A 27,026
01 AXHHILEES 68,480 87,346 A 18,866
Ost===4tF e E 2K 38,480,000 38,480
O&= 4telol & D@ A W K&
30,000, 000 30,000
08 WSII20HetE = 8,160 16,320 A 8,160
OXZ =4t S AH K& 8,160,000 8,160
S=MFEBHY 2 BY 9,665 10,708 A 1,043
201 L2l 3,600 4,500 A 900
03 &Ar2 I 3,600 4,500 A 900
Ox=aEH ol & 2Y 3,600,000 3,600
202 04l 1,700 1,700 0
01 = LH 4 Hi 1,700 1,700 0
Ox=aZM|Y & 82 & 1,700,000 1,700
203 YR =&t 2,565 2,708 A 143
03 Al F=XH R =AH| 2,565 2,708 A 143
O=MEARFH 2,565,000 2,565
301 LA F 1,800 1,800 0
09 #HALAHIXI &3 1,800 1,800 0
Ox=¢Z8M golsl s 2949 1,800,000 1,800
SMNHAD WSS G 70,000 65,000 5,000
= 70,000
308 MHXIEHSOIH 70,000 65,000 5,000
= 70,000
08 WSII20HetE = 70,000 65,000 5,000
O==4H DuELS X 70,000, 000 70,000
= 70,000
Hg 25 - 22 7,680,362 6,777,259 903, 103
= 4,832,000
< 2,848,362




S TR D
HE: M9 B B
ol ol 25 - 22 (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A2 2= (K XHAI) 2,173,250 1,068,500 1,104,750
= 1,910,000
& 263,250
308 XAHXIEHSOIA 2,173,250 1,068,500 1,104,750
= 1,910,000
o 263,250
01 AIXSHMENMNEX= 2,117,250 1,012,500 1,104,750
Ot A 22X 2,117,250,000 2,117,250
= 1,882,000
=} 235,250
11 B 2SHUSEANE AIS Y 56,000 56,000 0
OdHIZMNAHE AEHZA 56,000,000 56,000
= 28,000
= 28,000
A2l SHASH| 1,848,840 1,786,840 62,000
= 1,491,000
= 357,840
403 XX SHHM S X201 & 1,848,840 1,786,840 62,000
= 1,491,000
o= 357,840
01 XS A=2E X 1,848,840 1,786,840 62,000
oxnsaeg s4dX 1,848,840,000 1,848,840
= 1,491,000
= 357,840
HEHE XA 904,280 627,400 276,880
201 LBt Y| 28,000 8,500 19,500
01 AP 22| d| 28,000 8,500 19,500
O&EXAHYSGIE IHE Y S 28,000,000 28,000
308 MXISHMSOIA 516,280 480,900 35,380
01 AXHHIMNEEXS 516,280 480,900 35,380
OHENHY HEEgE X 450,000,000 450,000
OxXgs A= SItAF2] 4=0H 20,380,000 20,380
F=R0| sHE XA 45,900,000 45,900
403 XX SRS R20| & 360,000 129,000 231,000
01 XIS A2E X 360,000 129,000 231,000
OWFeA&& 4K 360,000,000 360,000
HEXEN 29 871,520 894,345 ~22,825
201 LBt ]| 643,350 601,000 42,350
01 At 2l b 43,350 51,000 A7.,650
OgREded 43,350,000 43,350
02 23244 600,000 550,000 50,000
O2322 % HA 150,000,000 150,000




S TR D
HE: M9 B B
@l oy 25 - 2el (chel: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
(@FaR=IR=DNE:] 450,000,000 450,000
202 04d| 29,900 29,750 150
01 2L HI 10,100 8,500 1,600
OWEXNE ¥ =asA X 10, 100,000 10,100
02 NI 19,800 21,250 A 1,450
O RNEe=x 19,800,000 19,800
308 XHXIGHH SO0l & 18,270 83,595 A B5,325
12 JIEIE Y= 18,270 83,595 ANB5,325
OEEHHY o= X2 18,270,000 18,270
401 Al HI L E0HHI 180,000 180,000 0
01 A& H| 180,000 180,000 0
O RN TH HEI|£2lhl 180,000,000 180,000
HHEALD GIEAIAE 2= 350,900 79,690 271,210
= 121,000
= 229,900
403 XX SHS K20 & 350,900 79,690 271,210
= 121,000
o= 229,900
01 XIS A2E X 350,900 79,690 271,210
OO0 ADHEAIAE REXS 108,900,000 108,900
OUKEADUHEAAE =X (EHQH OHE QS
Serstil Dol gel XI) 242,000,000 242,000
= 121,000
= 121,000
EAE HUXEY EHE23 403,000 434,200 A 31,200
= 310,000
= 93,000
403 XX SHHS K20| & 403,000 434,200 A 31,200
= 310,000
& 93,000
01 XIS A=2E X 403,000 434,200 A 31,200
OL=Z:JI& - &dl, gHl4dXl - WA X&
403,000,000 403,000
= 310,000
& 93,000
MEHLSHIES 1,128,572 1,015,714 112,858
= 1,000,000
& 128,572
308 XHXIGH SO0l & 1,128,572 1,015,714 112,858
= 1,000,000
& 128,572
01 IXHHIMNEXS 1,128,572 1,015,714 112,858
OFeEtd MEHNAL 0 22 1,128,572,000 1,128,572
= 1,000,000




S TR D
HE: M9 B B
©elr oy 25 - el (ol &9)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| | = 128,572
=M B -4 12,410,470 12,720,800 A 310,330
= 1,818,200
= 7,922,270
£ 2,670,000
=AM EFAXTS 126,000 124,000 2,000
403 XX SHS K201 & 126,000 100,000 26,000
01 XIS AS2E X 126,000 100,000 26,000
OWHE 3 126,000,000 126,000
o H LA D|BER A 1,846,600 2,063,000 A 216,400
308 XX G SOl A 1,174,600 1,134,000 40,600
01 AIXSHHEMNEX= 1,174,600 1,134,000 40,600
O2gy 2 MAXH 480,000,000 480,000
OAdALAME MHHEE S XS 129,600,000 129,600
OMEHE I =4 180,000,000 180,000
Odlldt MAaEd =48 X3 312,000,000 312,000
Odld&E3ste & HAaSK K& 48,000,000 48,000
ONEHEH HIX S SIH A 25,000,000 25,000
403 AIXSHME X201 N 672,000 929,000 A 257,000
01 XS A2E X 672,000 929,000 A 257,000
O=2 &sAHAANE A 140,000,000 140,000
OSSN LANHE JIBIAIE X 88,000,000 88,000
OHAMINSe| LA R AIEIR & XEXR
96,000,000 96,000
OSXs s4&4X 216,000,000 216,000
OXAMESX HSE =M EBAIE K&
84,000,000 84,000
OADBIE =4S X MAAE XIS 48,000,000 48,000
QIZ AL (HEAIY) 3,555,000 3,555,000 0
= 885,000
£ 2,670,000
308 XNXIGHMSO0|& 855,000 855,000 0
11 B 2SHUSEANE AIS Y 855,000 855,000 0
OBHE=R A 22 405,000,000 405,000
Ottt =2 & 8t = sl =58 sX2el
250,000,000 250,000
Odlsgxd 200,000,000 200,000
401 Al HI L 2 THHI 2,700,000 2,700,000 0
& 30,000
£ 2,670,000
01 Al&H| 2,697,000 2,697,000 0
OIZH A XA 2,697,000,000 2,697,000




2AMN: = &AHRA D
Bu: a9 AW U
el A4TIE 25 - B4 (e @e)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 57,300
£ 2,669,700
03 A& 2 0HbI 3,000 3,000 0
OZBHE=EXAY 3,000,000 3,000
= 2,700
£ 300
=2 s 450,000 350,000 100,000
= 450,000
403 XX S M S K201 A 450,000 350,000 100,000
= 450,000
01 AIXISHM A28 X 450,000 350,000 100,000
ODnE=2 e N 450,000,000 450,000
= 450,000
SAMASTH2E (HEAIY) 2,513,250 2,513,250 0
308 XX S M SO0l & 2,513,250 2,513,250 0
01 AXHXNBMNEXZ 2,261,250 2,261,250 0
OS2 = 2,261,250,000 2,261,250
11 SISO USEANRE AIS Y 252,000 252,000 0
OSBRSS U XA 252,000,000 252,000
UAMMNHAE 2 (AZHY)(HEAIY) 1,629,750 1,629,750 0
308 XX SHHSOIA 1,629,750 1,629,750 0
01 AIXHMBAEXZ 1,629,750 1,629,750 0
OLANHE H3t 696,000,000 696,000
OgAHERUZ AX 778,125,000 778,125
Ox=dE NMEE &X 155,625,000 155,625
B REHEEZ 556,970 162,900 394,070
= 433,200
o= 123,770
403 Tt S A S K= 0l & 556,970 162,900 394,070
= 433,200
o= 123,770
01 HXHXMAHEE = 556,970 162,900 394,070
OorsarE B2 556,970,000 556,970
= 433,200
= 123,770
ESANHXEZS (I ETHZ) 960,000 960, 000 0
= 900,000
== 60,000
403 XXM S K201 A 960,000 960, 000 0
= 900,000
< 60,000
01 MXHHMAHE2BE = 960,000 960, 000 0
OrEHNUX 23 960,000,000 960,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 900,000
< 60,000
SOHMERHMAIL (BF2H) 41,300 41,300 0
= 35,000
< 6,300
308 A EHSOIA 41,300 41,300 0
= 35,000
< 6,300
01 HIXNHHNBMNEELS 41,300 41,300 0
ORHME(2) AL 41,300,000 41,300
= 35,000
< 6,300
SOUTEMSHAEZLAL(SHEEXA) 150,000 240,000 A 90,000
308 XXM SO A 150,000 240,000 A 90,000
01 IXNHHBNEES 150,000 240,000 A 90,000
Ot AT ZAAS 150,000,000 150,000
HIOHHLXZ(MEAY) 395,600 395,600 0
403 XIS E X201 E 395,600 395,600 0
01 AXSHHMA2E = 395,600 395,600 0
OFZTHML(ItFelAE SUs)AY
395,600,000 395,600
SAHYRSSAIE XA (HEAL) 186,000 186,000 0
403 MHtXISHHE X201 H 186,000 186,000 0
01 XM A=2EE 186,000 186,000 0
O2ANESEAE X 186,000,000 186,000
HE-01E Y 65,427,567 65,739,393 A 311,826
= 46,540,760
< 10,586,807
£ 8,300,000
KRH2tel (X)) HetAd (AlZ])(™EAeY) 10,165,594 10,618,750 A 453,156
< 1,865,594
2 8,300,000
401 AIEHI L 2 CHEI 10,165,594 10,618,750 A 453,156
< 1,865,594
g 8,300,000
01 A& Bl 10,157,228 10,598, 750 ANA441,522
oxgog A4 10, 157,228,000 10,157,228
=) 1,857,228
£ 8,300,000
03 Al 2 THHI 8,366 20,000 AN 11,634
OXgoig A& 8,366,000 8,366
Hag2+=22X& 1,107,500 950,000 157,500
403 XIS E X201 & 1,107,500 950,000 157,500




AN =T D
HE: M9 B B
S HE - WY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 1,107,500 950,000 157,500
OL2ng E22 X 807,500,000 807,500
Odelzg f2&n &1 60,000, 000 60,000
OF4rZg 22w &I 60,000,000 60,000
Otzug 2&w &1 60,000, 000 60,000
OzzEx =gtlls 2&n 4
60,000, 000 60,000
OstdzE 3 =gllls &0 4
60,000, 000 60,000
AEHH A2 HX(HEAY) 263,590 263,590 0
403 A X EHHS =0l A 263,590 263,590 0
01 X HHMA=LE L 263,590 263,590 0
OAg0Hyd eI &X 263,590, 000 263,590
SEIIs BELUAE X (MEA) 1,353,561 1,353,561 0
403 Ut SHHSA=0l& 1,353,561 1,353,561 0
01 HXSHHMA=E X 1,353,561 1,353,561 0
Osgllls f&u A& 1,353,561,000 1,353,561
HERE A 2X 36,493,892 42,468,188 25,974,296
=2 32,336,360
=) 4,157,532
403 MtXSHHE =01 & 36,493,892 42,468,188 A5,974,296
= 32,336,360
=) 4,157,532
01 XM A=2EE 36,493,892 42,468, 188 25,974,296
OO0 E 7 E300AH 36,493,892,000 36,493,892
= 32,336,360
< 4,157,532
HESL A 3Xt 16,030,680 0 16,030,680
= 14,204,400
< 1,826,280
403 XIS E X201 & 16,030,680 0 16,030,680
= 14,204,400
< 1,826,280
01 X SHHX2E= 16,030,680 0 16,030,680
OUHE=E300A 16,030,680, 000 16,030,680
= 14,204,400
< 1,826,280
OEFE 300AtY 12,750 17,000 A 4,250
201 Yet2 2t 12,750 17,000 A 4,250
01 At 22l 12,750 17,000 N4,250
ONEFE300AIY FR=2 12,750,000 12,750
HPEs (1310 157,500 0 157,500
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